Quiz Four
Chemistry 121/100 FGH Name Ke/‘%‘
1. Give the name of the following polyatomic ions: (4 pts)

a. NHg! b. NO3!- c. CaoH3O,! d. CN!-
AmMmMDNIVM mtrokre  Qcetate Cyanide.

2. Solve the following heat problems: (16 pts)
S.H.1 x mass, xJAT1‘= S.H.2 x massz x/AT2 !

heat = S.H x mass X AT

a. 225.0 mL of water at a temperature of 86.0cC are combined with
115.0mL of water at a temperature of 18.0cC. What is the final
temperature of the mixture? The density of wateris 1.00 g/mL (Hint:
because you are mixing water with water the S.H. cancels out on
both sides and you don't need 1o use it)

MAasSSy x ATl‘\ = Mass>; x Ble
225.0mL x (86.0-T¢ ) = 115.0 (T¢ - 18.0)
| 92350 ~ 2387TF = [iatld — 075

21420 = A4oTf TL£ = (,3.0°C
b. 21.3 grams of an unknown metal are heated to 161 degrees Celsius
and dropped into 38.4 grams of water initially at 81.3 degrees
Celsius. The temperature of the equilibrium mixture is 87.4 degrees
Celsius. Find the specific heat of the unknown metal.

S.H.q X 21.53 X @zp] -37,u>: (q.liq%ﬁ(’s’s,q)[gw,ghg

S.He4 x2L3g X 7359 =(4.184) (39.4)(6. 1)
(2 s4.

 (4gd)(35.9) (0. 1) -
S.H1 (213)(13.0) = 0.6 A

= %E\T/ao



